
MO-150 1 P.T.O. 

Seat No. :  _______________
  

MO-150 
March-2019 

M.A., Sem.-IV 
510 : Economics 

(Mathematical Economics) 
(Old) 

 

Time : 2:30 Hours]  [Max. Marks : 70 
 

1. (A)   ,     . 14 

      

  (a)             ? . 

  (b)   U = q1q2      . 

 

 (B)    :  4 

  (1)    

   (a)     (b)  

   (c)     (d)  

 

  (2)    (Q) = 20  ,   (P) = 5 ` ,    

(R) = ? 

   (a) 200    (b) 100 

   (c) 50    (d) 25 

 

  (3)   

   (a)    (b)  

   (c) (a)  (b)   (d)    
 

  (4)    

   (a) – 
P
Q   

dP
dQ   (b) – 

Q
P   

dQ
dP 

   (c) – 
P
Q   

dQ
dP   (d) – 

Q
P   

dP
dQ 
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2. (A) CES   .    --   CES  
    .     14 

       

  --   ,    . 
 

 (B)    :    4 

  (1) Q = AKL      ? 

   (a)    (b) --  

   (c) CES    (d)    

 

  (2) Q = AKL   +  > 1  

   (a)  -  (b)  - 

   (c)  -  (d)  - 

 

  (3) Q = AKL   +  = 1  

   (a)  -  (b)  - 

   (c)  -  (d)  - 

 

  (4)     

   (a)     (b)   

   (c)    (d)    

 

3. (A)            : 

   Q = 50 – 0.5 P ( ) 

   C = 50 + 40 Q ( ) 

   Q = , P = , C =   .       , 
  .      14 

 

       C = 40 + 20  
5
2 X2 .     ` 60 . 

    ,  ,      . 
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 (B)    :    3 

  (1)    

   (a)   =   
   (b)   =   
   (c)  =  
   (d)    
 
  (2) -    _______ 

   (a)     (b)  

   (c)     (d)  

 
  (3)  R = , P = , Q =   

   (a) P = R  Q   (b) P = 
R
Q  

   (c) P = 
Q
R    (d) P = R – Q 

 
4. (A)  IS-LM      : 14 

   Y = C + I 
   C = 70 + 0.6Y 
   I = 20 + 0.1Y + 6r 
   L = 50 + 0.5Y – 5r 

   L = 
–
M 

   M = 250 () 

  (i) IS-LM   . 
  (ii)     y  r    . 

  (iii)   –
M    300 ,  y  r        ?   

                       
        . 
 
 (B)      3  

  (1) IS       ? 

   (a)   =   
   (b)  =  
   (c)   =   
   (d)    
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  (2) LM       ? 

   (a)   =   

   (b)  =  

   (c)   =   

   (d)    

 

  (3)     

   (a)   

   (b)   

   (c)   

   (d)    
____________  
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1. (A) Derive Slutsky equation and give economic interpretation of it. 14 

     OR 

  (a) What is the difference between Marshallian demand function and 
compensated demand function ? Explain. 

  (b) Show that the Indifference curve of utility function U = q1q2 is convex to 

the origin. 

 

 (B) Multiple Choice Questions :  4 

  (1) The slope of indifference curve is 

   (a) Negative   (b) Positive 

   (c) Zero    (d) Infinite 

 

  (2) A commodity’s production (Q) = 20 unit and Price (P) = 5 `, the total 
Revenue (R) = ? 

   (a) 200    (b) 100 

   (c) 50    (d) 25 

 

  (3) The concept of utility is 

   (a) objective   (b) subjective 

   (c) (a) and (b) both  (d) None of the above 

 

  (4) Formula of Elasticity of demand is 

   (a) – 
P
Q   

dP
dQ   (b) – 

Q
P   

dQ
dP 

   (c) – 
P
Q   

dQ
dP   (d) – 

Q
P   

dP
dQ 
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2. (A) State CES production function. Prove that Cobb-Dou-glass production function is 
a special case of CES production function.  14 

       OR 

  State Cobb-Douglass production function and explain its properties 
(characteristics). 

 

 (B) Multiple Choice Questions :    4 

  (1) Which of the following production function is Q = AKL. 

   (a) Eular    (b) Cobb-Dou-Glass 

   (c) CES    (d) None of the above 

 

  (2) In production function Q = AKL,  +  > 1 means 

   (a) Constant return to scale (b) Increasing return to scale 

   (c) Diminishing return to scale (d) Zero return to scale 

 

  (3) In production function Q = AKL,  +  = 1 means 

   (a) Constant return to scale (b) Increasing return to scale 

   (c) Diminishing return to scale (d) Zero return to scale 

 

  (4) Producer’s rational behaviour means 

   (a) Maximum Cost  (b) Maximum Profit 

   (c) Maximum Utility  (d) None of the above 

 

3. (A) A Monopolist Firm’s Demand and Total Cost functions are as following : 

   Q = 50 – 0.5 P (Demand function) 

   C = 50 + 40 Q (Cost function) 

  Where Q = Quantity, P = Price, C = Total Cost. Find Price and Output for 
maximum Profit. Find total Profit.   14 

OR 

  A Firm’s Total Cost function in perfect competition is C = 40 + 20  
5
2 X2 and 

Market Price per unit is ` 60. Find Maximum Profit, Total Revenue, Total Cost 
and Total output at equilibrium point.  
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 (B) Multiple Choice questions :    3 

  (1) Condition for Equilibrium of firm is 

   (a) Marginal Revenue = Marginal Cost 

   (b) Average Revenue = Average cost. 

   (c) Revenue = Cost. 

   (d) None of the above. 

 

  (2) Number of firms in Duopoly is ____ 

   (a) two    (b) three 

   (c) one    (d) five 

 

  (3) If R = Revenue, P = Price, Q = output then, 

   (a) P = R  Q   (b) P = 
R
Q  

   (c) P = 
Q
R    (d) P = R – Q 

 

4. (A) One IS-LM Model is given below : 14 

   Y = C + I 

   C = 70 + 0.6Y 

   I = 20 + 0.1Y + 6r 

   L = 50 + 0.5Y – 5r 

   L = 
–
M 

   M = 250 (fixed) 

  (i) Find the equation of IS-LM. 

  (ii) Find the solution of model and find the equilibrium value of y and r. 

  (iii) If we increase 
–
M to 300, then what will be the effect on equilibrium value 

of y and r ?  

OR 

  Explain Keynes’ Macro Economic Model with an example. 

 

 (B) Multiple Choice Questions.  3  

  (1) What is shown by each point of IS curve ? 

   (a) Demand for Money = Supply of Money 

   (b) Investment = Savings 

   (c) Commodity Demand = Commodity supply 

   (d) None of the above 
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  (2) What is shown by each point of LM curve ? 

   (a) Demand for Money = Supply of Money. 

   (b) Investment = Savings. 

   (c) Commodity Demand = Commodity Supply. 

   (d) None of the above. 

 

  (3) According to Keynes the equilibrium of Economy is at 

   (a) Full Employment 

   (b) Less than full employment 

   (c) Full savings 

   (d) None of the above 
____________ 
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1. (A)     ()    .  14 

      

        . 
 

 (B)       (  ) 4 

  (1)   Rationing   . 

  (2)       ? 

  (3)        ? 

  (4)      . 
  (5)        ? 

  (6)     . 
 

2. (A)       . 14 

      

        .    
-   . 

 

 (B)     . (  ) 4 

  (1)        ? 

  (2)        ? 

  (3)    Micro-financing   . 
  (4)      . 

  (5)      . 
  (6)        ? 
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3. (A)   -  .   -    ? 14 

 

            .  

 

 (B)       (  ) 3 

  (1)     ? 

  (2)       ? 

  (3)       ? 

  (4) Signaling theory of education . 

  (5)      ? 

 

4. (A)      . 14 

      

          .   
   . 

 

 (B)       (  ) 3 

  (1)       ? 

  (2)        . 

  (3)       ? 

  (4)           ? 

  (5)   Drop-out    ? 

_________ 
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1. (A) Discuss the nature of health care as economic commodity. 14 

     OR 

  Critically evaluate the role of Government in providing health care. 

 

 (B) Write in one or two lines : (any four) 4 

  (1) Define Rationing in health care. 

  (2) Why do we need insurance ? 

  (3) What is technical efficiency in health care industry ? 

  (4) Explain allocative efficiency in health care industry. 

  (5) What is moral hazard in health care ? 

  (6) Name the suppliers of health care. 

 

2. (A) Critically evaluate Health care industry in India. 14 

     OR 

  Discuss the economics of financing health care and also different sources of 
financing health care. 

 

 (B) Write in one or two lines : (any four) 4 

  (1) What is the importance of Regulation of Health Care ? 

  (2) What is community Budget Health Insurance ? 

  (3) Explain the role of micro-financing in Health Insurance. 

  (4) Name the external sources of Financing HealthCare. 

  (5) Define decentralization in Health Care System. 

  (6) What are the objectives behind decentralization in Health System ? 
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3. (A) Explain formal and non-formal Education. Why non-formal education is 
necessary ?     14 

OR 

  Critically evaluate role of State in increasing education productivity and 
employment. 

 

 (B) Write in one or two lines : (any three) 3 

  (1) What do you mean by informal education ? 

  (2) What is the Social rates of return in education ? 

  (3) What is Human Capital Theory of Education ? 

  (4) State the signalling Theory of Education. 

  (5) What are the special characteristics of Education ? 

 

4. (A) Critically evaluate the Education system in India. 14 

     OR 

  Discuss the economics of Government funding for education and also alternative 
method of financing education. 

 

 (B) Write in one or two lines : (any three) 3 

  (1) What is public-private participation in education ? 

  (2) Describe the rationality behind government funding of education. 

  (3) What are the problems of Indian education system ? 

  (4) What measures government has taken in improving retention rates in 
primary education ? 

  (5) What is the drop-out ratio at primary level ? 
_________ 

 


